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-{d} None of the above
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Kark out the correct statement.
(a) Attraction is
electrification.

(b} Mass can exist without charge |
and charge can also exdist |

without mass.
{¢} Charge is discrete in general
and can be constant also.

(d) Mass and charge, both are |

invariant physical quantides.

a irue test of |

Two point charges 2Q and ~18Q |
are placed at a separation r. Find !

the locadon and charge of a test |

charge, so that the entire system is
in equilibrium.

(a) Ouwside the for joining the !
charges to on side of 2Q av i

r 29
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(t) Outside the line joining the ;

charges on side of 2Q at x =71,
~9Q

{¢) For any value of test charge at

v i
T from 2@, outside the |

charges
1<) Mot possible for all the three
charges to  remain in

A charge particle ¢ experiences an |

- = 3
electric force ¥ due to another

charge g,. If we bring a charge ¢y |

near

to g, then the
=xperienced by q;due {0 gy

(2} may be greater than ¥
{b; may be smaller than ¥

(c) remains the same as B
(d} either {a) or (b)

A positively charged insulating rod |

force |

is broughr close to an object that is
suspepded by a string. If the object |

is awracted towards the rod, we |

can conclude thar

(a) the objectis positively charged

{b) the object is an insulator
(¢} the object is a conductor

Two identical conducting spheres
A and B carry equal charges. They |

are separated by a distance much |

larger than their diameters. A third

identical uncharged conducting |

~F

9.

(] >

sphere Cis first touched to 4, then
to B and finally removed. As a
result, the elecostatic force
between A and B which was |
originally F, becomes

F F
@ E (b) ; >

{c) %{ d) F

. Two particles have charges @ and

—Q. Yor a zero net force te be

exerted on a third charged particle,

it must be placed

(a) on the perpendicular bisector
of line joining § and ~-Q, but

- not on that Hae itself

(&) on the line joining @ and —Q,
to the side of Q opposite —Q

(¢} on the line joining @ and ~Q.
to the side of ~Q, opposite @

{d} No such location iz possible

. Charge @ is located at (8, o) and

charge g is at {d, 0} The value of d
for which X component of force on
q due w @ is maximum, is

@ 0 b)

- - dg
42 J:)2

. Experimenter A uses a test charge

go while another experimenter B

4 .

uses a test charge >y to. measure

the Eat a peint due to a stationary

charge. A finds a field that is

(a) the same as the field found by
B,

(b} less than the field found by B

(c) greater than the ficld found by
3 :

{d) either greater or less than the
field found by B :

The diagrams below depict 4

cliarge distributions. All the peint

charges are at same distance from

the origin. Rank the sitarions

according to z&agnimde of ¥ at

origin-from least 1o greatest.
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A positive charge Q is placed on a
conducting spherfeal shell with
inper radius Ry and outer radius
R,. A point charge ¢ is placed
inside the shell (not at centre). The
Fatany point outside the shell at a
distance r from its centre would be

Q
@ 4ge i

Q+g
® g

Q+gq
) 4-21:501'2

(d) Cant be determined

Charge is distributed uniformly on
the surface of a large (infinite)

sheet. The miagnitude of B at a
point 2 an from the sheet is
60 N/C. What would be magnitde

of'ﬁarapamtatadismceiicm
from the sheer?

& 1SN/C {b) 30N/C

{0 120N/C  (d) 60N/C )
A solid metal sphere of radius’
S0 om cardes a charge of
25x107°C. The electrostatic
potential at a distance of 20 cm

from the centre will be
- {a) 25V (b) 15V

{c) 35V N (d_) 45V



